



www.11pool.net



About us 11 Pool

11 Pool Crypto is a next-generation digital platform that combines blockchain technology with smart earning opportunities. Our mission is to create a transparent, secure, and community-driven crypto ecosystem where users can grow, participate, and benefit with confidence.

Built on modern blockchain principles, **11 Pool Crypto** focuses on fairness, decentralization, and long-term sustainability. We aim to make crypto participation simple and accessible for everyone—whether you are a beginner or an experienced crypto user.





At 11 Pool Crypto, we are committed to:



- 🔒 Secure & transparent blockchain operations
- ⚡ Fast, reliable, and efficient systems
- 🌐 Community-focused growth
- 📊 Fair reward and pool mechanisms
- 🚀 Continuous innovation in crypto solutions

Our vision is to empower users through trust, technology, and transparency while building a strong crypto community for the future.

11 Pool Crypto — where technology meets opportunity.



What is Crypto Trading?

Crypto trading is the act of purchasing cryptocurrency at a **lower price** and selling it at a **higher price**, or selling first and buying later when the price drops. It happens on **online crypto exchanges** using digital wallets.

Unlike stock markets, **crypto markets run 24/7**, so prices move all the time.

How Crypto Trading Works

You create an account on a crypto exchange

Deposit money (INR, USDT, etc.)

Buy a cryptocurrency

Wait for price movement

Sell to make profit (or manage loss)





FREE

**REGISTER
NOW**



JOINING AMOUNT



\$11



Types of Income



GLOBALLY AUTOPOOL INCOME

DIRECT INCOME

SPONSOR WITHDRAWAL INCOME

AUTOPOOL UPGRADE INCOME



1 . POOL INCOME

Level	Team	Per ID	Turnover	Upgrade	Income
1	2	7.5	15	10	5
2	4	10	40	20	20
3	8	20	160	60	100
4	16	60	960	0	960
Total					\$1085

FROM 1085, \$100 GOES TO SILVER AUTOPOOL

AUTO UPGRADE HENCE YOUR INCOME IS \$985



2 . SILVER POOL \$100

Level	Team	Per ID	Turnover	Upgrade	Income
1	2	75	150	100	50
2	4	100	400	200	200
3	8	200	160	600	1000
4	16	600	960	0	9600
Total					\$10850

FROM \$10850, \$1000 GOES TO GOLD AUTOPOOL AUTO

UPGRADE HENCE YOUR INCOME IS \$9850



3 . GOLD POOL \$1000

Level	Team	Per ID	Turnover	Upgrade	Income
1	2	750	1500	1000	500
2	4	1000	4000	2000	2000
3	8	2000	1600	6000	10000
4	16	6000	9600	0	96000
Total					\$108500

FROM \$108500, \$10000 GOES TO DIAMOND AUTOPOOL

AUTO UPGRADE HENCE YOUR INCOME IS \$98500



4 . DIAMOND POOL \$10000

Level	Team	Per ID	Turnover	Upgrade	Income
1	2	7500	15000	10000	5000
2	4	10000	40000	20000	20000
3	8	20000	16000	60000	100000
4	16	60000	96000	0	960000
Total					\$1085000

FROM \$1085000, \$100000 GOES TO RUBY AUTOPOOL

AUTO UPGRADE HENCE YOUR INCOME IS \$985000



5 . RUBY POOL \$100000

Level	Team	Per ID	Turnover	Upgrade	Income
1	2	75000	150000	100000	50000
2	4	100000	400000	200000	200000
3	8	200000	160000	600000	1000000
4	16	600000	960000	0	9600000
Total					\$10850000

FROM \$1085000, \$100000 GOES TO RUBY AUTOPOOL

AUTO UPGRADE HENCE YOUR INCOME IS \$985000



DIRECT INCOME



25%



SPONSOR WITHDRAWAL INCOME



Level	Income
1	1%
2	1%
3	1%
4	1%
5	1%
6	1%
7	1%
8	1%
9	1%
10	1%



AUTOPOOL UPGRADE INCOME

25%





TERMS AND CONDITIONS

- ✓ JOINING IN USDT BEP20 ONLY
- ✓ WITHDRAW IS IN USDT BEP20
- ✓ 2 DIRECT COMPULSORY FOR WITHDRAWAL
- ✓ DEDUCTION IN ALL INCOME IS 20 % FOR , 10% FOR SPONSOR
- ✓ WITHDRAWAL INCOME AND 10% SERVICE CHARGE.
- ✓ MINIMUM WITHDRAWAL \$5 .
- ✓ 24*7 SUPPORT AVAILABLE.





www.11pool.net